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1. Which of the following are polynomials?

1
a) X+ -

X2_
d) X%+ 5

e) (x+y)

(i) {c,e} (ii) {b,e} (i) {a,b} (iv) {d,a,b} (v) {ceb}

2. Which of the following are not polynomials?

a) 16 x2

b) (12x+2y)
(12x+2y)

(7x=3y)
d) (84x% =22 xy—6y2)

1
e) X+ -
X

(i) {c,e} (i) {b,e} (iii) {d,a,c} (iv) {b,e,c} (v) {a,c}

3. Which of the following are not polynomials?
a) (2x—-11y)
b) 16 x2

c) Vx

1
2 R

d) 16x° +
16 x2

e) (3x+2y)

(i) {a,c} (i) {c,d} (i) {b,d} (iv) {e,a,c} (v) {b,d,c}
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Which of the following are not polynomials?
a) (63x2-67xy—18y2)

b) 49 x2

c) (7x-9y)
(9x+2y)
(7x=9y)
e) Vx

d)

(i) {b,e,d} (ii) {b,e} (i) {d,e} (iv) {c,a,d} (v) {a,d}

. The degree of the polynomial (6 m—6) is

(i) 1 (i) 2 (ii) (-1) (iv) 0 (v) 4

The degree of the polynomial (6/72 +h+5)is

(i) 3 (i) 1 (i) 2 (iv) (-1) (v) 4

. The degree of the ponnomiaI(—5y3—8y2 +9y)is

(i) 1 (i) 4 (i) 2 (iv) 5 (v) 3

The degree of the polynomial(—7u5+5u4—6u2+8u—6) is

(i) 4 (ii) 2 (iii) 8 (iv) 6 (v) 5

The coefficient of term nin polynomial(2n+2)is

(i) 0 (ii) 5 (iii)) 2 (iv) 3 (v) 1

The coefficient of term gin polynomial (4g2 +3g-1)is

() 1 (i) 6 (i) 4 (iv) 3 (v) 2

The coefficient of term g3 in polynomial(—7g3—6g2 —-8g—9)is

(i) -4 (i) -6 (iii) -10 (iv) -7 (v) -8

The coefficient of term 2 in polynomial(—4r4—5r3+8r2 +9r—=7)is

(i) 5 (i) 11 (i) 9 (iv) 7 (v) 8

Which of the following algebraic expressions is a monomial?

(i) 65 (i) (-95%+653+752+85—8) (iii) (653—95—8) (iv) (=35%+95°-752—-75+6) (v) (653+25)

Which of the following algebraic expressions is a binomial?

(i) 2V*=3V3+v2—v—4) (i) (-8v*=7) (i) 3V*=2V3-9v2—=7v=-4) (iv) (=9vV%—v+2) (v) (=9v?)

Which of the following algebraic expressions is a trinomial?

() (—8u*+6u3—-4u2+6u=2) (i) (=2u*=50%2—4u) (i) (=u3+2) (iv) u (v) (6U*+9u3+u%+4u—6)
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Which of the following algebraic expressions is a constant polynomial?

(i) 6n3 (i) (7n*+7n%2=2) (i) (9n*=n3+n2=7n+1) (iv) (2n3-9n%) (v) 6

Which of the following algebraic expressions is a zero polynomial?

(i) 0 (i) 3e* (i) (2e3+2) (iv) (=3e*+e2-9) (v) (8e*+9e3-9e2+9e+7)

Which of the following algebraic expressions is a constant polynomial?

(i) (3c%2=2c+9) (ii) (9c°—4c3+2c%+4c—8) (i) 9 (iv) (=3c—=1) (v) (3c3—2c2+2c+4)

Which of the following algebraic expressions is a linear polynomial?

(i) (=5) (i) (=4r2=3r+9) (i) (6r=7) (iv) (5/°+8r%—8r+3) (V) (7P +5* = +r+6)

Which of the following algebraic expressions is a quadratic polynomial?

(i) (9P +8P =22 +2r=7) (ii) (8r+7) (iii) (rP=9r—8) (iv) (=33 -6~ +6r=5) (v) (—8)

Which of the following algebraic expressions is a cubic polynomial?

(i) (=7) (i) (83 +3u2+4u—1) (i) (*=4u3=-30u2-9u+2) (iv) (=5u2+7u=2) (v) (-8u—3)

The degree of polynomial(—=3//—i—9/—4)is
(i) 0 (ii) 2 (iii) 1 (iv) 5 (v) 3

The degree of ponnomiaI(752t2 —-8s2¢+8s2 —-7¢t)is

(i) 4 (ii) 6 (iii) 5 (iv) 3 (v) 1

The degree of polynomial(fzt'2 —5rs+952 +95+8t2) is

(i) 5 (ii) 4 (i) 1 (iv) 6 (v) 3

The degree of polynomial(—8o3p3q2—803p3+6o3p2q3—303,oq—902,03q2 —802pq3+602) is

(i) 6 (ii) 7 (iii) 10 (iv) 9 (v) 8

The coefficient of term Ain polynomial (=6h/i+2h+10/+2)is
(i) -1 (i) 1 (i) 3 (iv) 5 (v) 2

2

The coefficient of term vin polynomial (8 V2 +3vwc+v—=9)is

(i) -1 (i) 3 (i) 2 (iv) 1 (v) O

The coefficient of term np2 in polynomial (—2[72,02 +no? —4n,02 —30+6)is

(i) -2 (i) -3 (iii) -6 (iv) -4 (v) -5

The coefficient of term de3 A in polynomial (—80’3 e2+4d?efr —2de3 P -5de3 f—7de—8df—Se/3) is

() 1 (i) -2 (ii) -5 (iv) -3 (v) -1
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Which of the following algebraic expressions is a monomial?

(i) (5W3x2+3w3xy) (ii) (—W3y3—W2xy2+3wy3—4xy) (iii) (2W2x3y+wx2y3+5wx+2x2) (iv) 6wxy
(v) (4W3+4W2y3—7xy2)

Which of the following algebraic expressions is a binomial?

() (=9K2Pm3+4k2Im3—=9kPm3—6kim?) (i) (=6kPm3) (i) (=3k3=2kPm?—-4,)

(iv) (—=8k2Pm—Im?) (v) (=3k3P+9kI-2km—2/?)

Which of the following algebraic expressions is a trinomial?

(i) (—9a2b2c2+ab3c2—8abc?-2b) (i) (6a3b3c2+4a3C3) (i) (—7a3b3c2+3a3b+9a%c3)

(iv) (—-8ab3c) (v) (—2a3bc3+3a2b2-2ab3c%+2ac3)

Which of the following algebraic expressions is a constant polynomial?

(i) (=8pG%r3) (i) (=503 +6pr) (i) 8 (iv) (3p3r° —6pg>r2—4pqri—6p)

(v) (—4p3g-5pg3r~+5pq)

Which of the following algebraic expressions is a zero polynomial?

(i) (=2m3n20%-3mn203-4mo) (i) (=8m3no?) (iii) (=4m?no®+5m?n—2m?—-5mn?o)

(iv) (—=4n20+9n0) (v) 0



Assignment Key

1) (ii) 2) (i) 3) (ii) 4) (iii) 5) (i) 6) (iii)
7) (v) 8) (v) 9) (iii) 10) (iv) 11) (iv) 12) (v)
13) (i) 14) (ii) 15) (ii) 16) (v) 17) (i) 18) (iii)
19) (iii) 20) (iii) 21) (ii) 22) (ii) 23) (i) 24) (ii)
25) (v) 26) (v) 27) (iv) 28) (iv) 29) (ii) 30) (iv)
31) (iv) 32) (iii) 33) (iii) 34) (v)
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